
Modern and Funky rocking horse!

In the chart we see 3 columns. 


• The first column corresponds to the green numbers of the picture.

• The second column is shows how much cm this point is to the left or to 

the right of the white vertical line in the middel. A negative nr (-) is the 
amount of cm to the left and the positive numbers are to the right. 


• The third column is the amount of cm you have to go up from the white 
line at he underside of the picture.

Nr. Left / right Up

1 -29 9

2 -19,5 25,5

3 -24,5 29

4 -23 32,5

5 -16 28

6 3 28

7 21 41

8 21 45

9 24 45

10 25 41

11 34 25,5

12 27 21,5

13 22,5 23

14 22,5 17,5

15 29 9

The numbers in the chart are that of the small rocking horse. This is a small horse for children at the age of 
1-4 years old. In my example I have point 1 and 15 10cm above the underline. But I think it is safer to make 
this 9 cm up. So I put that in the chart. 


The bigger Horse is for children above 4. This one really rocks. It is exactly 
1.5 times the little one. So you have to multiply the column numbers by 1.5

By this one you should make point 1 and 15, 15 cm from the underline.

If you want to share your project with us, please sent some pictures to: 
hookedonwood@hotmail.com

I will put them on my site. Sharing your project would be great! 

Thanks Dennis
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